F/M MiNIBALL VALVE

FEATURES
#1000PSI/PN63

@ Reduce Port

@ Investment Casting

@ Blow-out proof Stem

@ External polished

® Max temperature: -25T to 180C

@ PTFE seats & seals

@ Thread: ASME B1.20.1 BS21.DIN2999/259,
1SO228-1, JIS B 0203, 1SO7/1

@ Inspection Testing: AP1598, EN12266

Ball Valve

10

il
C L
MATERIALS LIST

ITEM DESIGNATION QryY MATERIAL

! O-RING 2 VITON

2 STEM 1 304/316

3 BOLT i 304
4 LEVER 1 | ALUMINUMALLOY

5 BODY 1 CF8/CF8M

6 CAP 1 CF8/CF8M

7 BALL SEAT(A) 1 PTFE

8 BALL 1 304/316

9 BALL SEAT(B) 1 PTFE

10 THRUST WASHER 1 PTFE

—

01384 411 888

sales@ultravalve.co.uk

DIMENSIONS(mm)

eS| ya | ys |12 s | 1
D 8 | 8 | 92 | 125 15
L | 39 a1 | 46 | 55 65
H | 265 265 | 283 | 315 34
w 228 | 228 2238 228 | 228
S 21 | 21 | 245 | 31 | 38

Note: If the thread is taper type(NPT/BSPT),the
nominal diameter is 7MM.

www.ultravalve.co.uk

BONOMI

GROUP




Ball Valve

F/F wviNiBALL VALVE

FEATURES

© 1000PSI/PN63

@ Reduce Port

@ Investment Casting

@ Blow-out proof Stem

@ External polished
@ Max temperature: -25T to 180C
@ PTFE seats & seals

@ Thread: ASME B1.20.1 BS21.DIN2999/259,

1SO228-1, JIS B 0203, ISO7/1
@ Inspectien Testing: API598, EN12266

10

(m]
o

T [ L5

NS

9 NS

MATERIALS LIST

ITEM | DESIGNATION QTY MATERIAL
1| O-RING 2 VITON
2 | STEM 1 304/316 DIMENSIONS(mm)
3 | BOLT 1 304 _l;gﬁs‘l‘zil |y [ e | 1
4 LEVER 1 ALUMINUM ALLOY b 8 8 92 | 125 | 15
5 BODY 1 CF8/CF8M L 39 | a1 @ 4 55 65
6 | CAP 1 CF8/CFgM H 265 | 265 | 283 | 315 | 34
7 | BALL SEAT(A) 1 PTFE w 228 | 228 | 228 | 228 | 228
8 BALL 1 304/316 S 21 | 21 | 2a5 | 31 | 38
9 BALL SEAT(B) i PTFE :

Note: If the thread is taper type(NPT/BSPT),the

10 THRUST WASHER 1 PTFE nominal diameter is 7MM.

—

01384 411 888

sales@ultravalve.co.uk

www.ultravalve.co.uk

sonomi

GROUP




Ball Valve

M/M MINIBALL VALVE

FEATURES

@ 1000PSI/PNG3

@ Reduce Port

@ Investment Casting

@ Blow-out proof Stem

@ External polished

@ Max temperature: -25TC to 180C

@ PTFE seats & seals

@ Thread: ASME B1.20.1
150228-1, JIS B 0203, 15Q7/1

@ Inspection Testing: API598, EN12266

BS21.DIN2999/259,

MATERIALS LIST

ITEM DESIGNATION QTY MATERIAL
1 O-RING 2 VITON
2 STEM 1 304/316
3 BOLT ol 304
| 4 | LEVER 1 ALUMINUM ALLOY
5 BODY 1 CF8/CF8M
6 CAP 1 CF8/CF8M
| 7 BALL SEAT(A) 1 PTFE
8 BALL 1 304/316
9 BALL SEAT(B) 1 PTFE
10 THRUST WASHER 1 PTFE

01384 411 888

—

sales@ultravalve.co.uk

DIMENSIONS(mm)

=y

2w |3 |2 |3 | v
D 8 8 | 92 | 125 | 15 |
L 50 | 50 | 58 | 70 | 8
H | 265 | 265 | 283 | 315 | 34
W | 228 | 228 | 228 | 228 | 228
5 2. |'A | &8 | s | B

Note: If the thread is taper type(NPT/BSPT),the
nominal diameter is 7MM.

www.ultravalve.co.uk

BONOMI

GROUP




Ball Valve

1PC BALL VALVE (QF101)

FEATURES

@ 1000PSI/PN63

@ Reduce Port

@ Investment Casting

@ Blow-out proof Stem

@ Casting Approved AD2000-W0

@ PED97/23/EC(CE0035)Approved

®W.P: 1/4”-2” 1000psi 2 1/2"-4” 800psi

@ Thread: ASME B1.20.1 BS21.DIN2999/259,
150O228-1, JIS B 0203, 1SO7/1

@ Inspection Testing: AP1598, EN12266

w
6 /i 43 1
15 I 2 1
3 16
I
3
14 ] 1/4°-2"
K10 L
2 1/2"-4”
ITEM DESIGNATION MATERIAL
1 HANDLE SLEEVE PVC
2 HANDLE 304
3 LOCKING 304
4 STEM NUT 304
5 SPRING WASHER 304 SIZE ®D L H w S
6 STEM 304/316 14" | s | 39 | 31 | 65 17
7 PACKING RING 304 3/8" 6.8 44 36 85 21
8 STEM PACKING PTFE 1/2" 9.2 56.5 41 95 25
9 THRUST WASHER PTFE 3/4" 12.5 59 44 95 32 HEX
10 CAP CF8/CF8M 1 15 7l 48 111 38
11 BODY CF8/CF8M 1-1/4" 20 78 54 111 49
12 BALL SEAT RPTFE 1-1/2" 25 83 65 135 53
13 BALL 304/316 2" 32 100 72 135 65
14 BALL SEAT PTFE 2-1/2" 38 120 80 154 83
15 GLAND NUT 304 3" 50 140 100 191 98 ocT
16 STEM PACKING PTFE 4" 64 170 129 246 127

—

01384 411 888

sales@ultravalve.co.uk

www.ultravalve.co.uk

BONOMI

GROUP




I Umw 01384 411 888 sales@ultravalve.co.uk www.ultravalve.co.uk

Ball Valve

1PC HEXGON BAR STOCK 2000 PSI
BALL VALVE (QF102) ,

FEATURES
@ Winternal Entry Blow-out Proof Stem -
@ Pressure Rating: 2000 PSI (PN125) :
@ Thread Ends: ANSI B2.1, BS 21, DIN2999/259
@ Material: Carbon Steel
@ Pressure Test: API 598

RATING 1/2°-2"

DIMENSIONS(mm) 2000 H/A4-114” 70
SIZE = ©D L H w sw 1600112 \\ ‘:2
4 a0 - A aAr —-n An N =
/9 2 a3 ols ] s ] ZU ? 1200 = — a0 g
3/8" 7 45 38 73 25 ¥ aco 3 o g
172" | 95 62 50 15 | 30 2 o T B
3/ | 428 | 70 58 115 | 36 | HEX & R
0 100 200 300 400 500 °F
1 15 85.5 62 129 41(46) ‘l'; 5;0 102) 15l0 20‘0 25’0 °C
1-1/4" 20 94 64 129 53 TEMPERATURE
1-1/2" | 25 | 1005 | 72 150 | 60 | w
z 32 114 | 80 150 | 70(75)
MATERIALS LIST : 1
ITEM DESIGNATION QTY MATERIAL 6 5 4 . :
1 PLASTIC COVER 1 PLASTIC 70\
8 e =
2 HANDLE i 304 - o
3 STEM NUT 2 304 LB
4 STEM il 304 10 4~ - I% 5
5 PACK RING 1 304 1./]
6 STEM PACKING i PTFE 2/
7 THRUST WASHER 1, PTFE L
8 BODY 1 | CARBON STEEL
9 BODY GASKET 1 PTFE ]
10 CAP 1 WCB
11 BALL SEAT 2 PTFE/RPTFE I J >
12 BALL - 304 [ |

Bonomi

GROUP




I Umpﬂ 01384 411 888 sales@ultravalve.co.uk www.ultravalve.co.uk

Ball Valve

1PC 2000 PSI CASTING BALL VALVE
(QF103)

FEATURES

4 2000PSI(PN150)

@ Reduce Port

@ Investment Casting

@ Blow-out proof Stem

@ Tapped & drilled mounting pad (option)

4 PED97/23/PE (CE0035) Approved

@ Casting Approved AD2000-W0

@ Thread: ASME B1.20.1 BS21.DIN2999/259,
150228-1, JIS B 0203, 1SO7/1

@ Inspection Testing: API1598, EN12266

RATING 1/2"-2"
2000 P42 N 70 =
\ —160 w
1600
N 50 7 6 5 4 3 2 1
% 1200 \\ =40 % 8 v 1
a o
i \ o o
% 800 \ % / /
3 N 20 @ 2 -
w400 \ o
o =110 o 10
0 100 200 300 400 500 °F |
rT T T T T T - @) ____I____
0 50 100 150 200 250 C |
TEMPERATURE
MATERIALS LIST 1 /12/ s e
ITEM DESIGNATION MATERIAL 3 L
1 HANDLE SLEEVE PVC
B HANDLE 304
3 LOCKING 304
4 STEM NUT 304
5 SPRING WASHER 304 DIMENSIONS(mm)
6 STEM 304/316 SIZE = @D L H w s
7 PACK RING 304 1/4 92 59 44 91 22
8 STEM PACKING PTFE 3/8 92 59 44 91 )
9 THRUST WASHER PTFE 1/2 92 67 44 91 26
10 BODY CF8/CF8M 3/4 % 71 | 475 | 111 32
11 SEAT(A) RPTFE 1 15 84 60 111 40
12 BALL CF8/CF8M 11/4 | 20 94 65 126 50
13 SEAT(B) RPTFE 11/2 25 100 71 126 55
14 INSERT 304/316 2 32 114 | 765 | 154 70

Bonomi

GROUP




I Umw 01384 411 888 sales@ultravalve.co.uk www.ultravalve.co.uk

Ball Valve

ZPC REDUCE PORT BALL VALVE
800 PSI (QF201)

FEATURES

@ 800PSI(PN40)

@ Reduce Port

@ Investment Casting

@ Blow-out proof Stem

@ PED97/23/PE (CEO035) Approved

@ Casting Approved AD2000-W0

@ Thread: ASME B1.20.1 BS21.DIN2999/259,
1S0228-1, JIS B 0203, 1SO7/1

@ Inspection Testing: AP1598, EN12266

RATING 15A-50A

1000 70
15A-S0A — 60
800
\ 50
& 600 =40 & 8 9 10 1 12
a o
& 400 AN =30 7 P L )
2 \ -
W 200 AN _!10 g 6
o 1 a
| 5 :
CI . 1()0I 20(.) 3C'0 4(.)0 5.00 17 4 - " \?{:
0 50 100 150 200 250 *°C ! | N
2. J
5 _ =z
ITEM DESIGNATION QTY MATERIAL | <[ | o
7 BODY 1 |crscram| 1 [T |
o ——
2 CAP 1 | CF8/CF8M ] L ‘
3 BALL 1 | CF8/CF8M ! '
4 BALL SEAT 2 RPTFE
5 JOINT GASKET 1 PTFE
6 THRUST WASHER 1 PTFE
7 O-RING 2 NBR
8 STEM PACKING 1 PTFE ITEM 15A 20A 25A 32A | 40A | 50A
9 STEM 1 304/316 ik 485 58.5 69 79 89 | 1005
10 NUT 1 304 DN 10 15 20 25 31 | 39
11 HANDLE 2 304 S 25 30 38 47 53 | 65
12 HANDLE SLEEVE 1 PVC Z 21 235 31 33 4 | 47

sonomi

GROUP




I Umw 01384 411 888 sales@ultravalve.co.uk www.ultravalve.co.uk

Ball Valve

ZFP U REDUCE PORT BALL VALVE
1000 PSI (QF202)

FEATURES

4 1000PSI/PN63

@ Reduce Port

4 Investment Casting

4 Blow-out proof Stem

4 PED97/23/PE (CE0035) Approved

@ Casting Approved AD2000-W0

@ Thread: ASME B1.20.1 BS21.DIN2999/259,
1SO228-1, JIS B 0203, 1SO7/1

@ Inspection Testing: AP1598, EN12266

RATING 1/2"-2"
1000 1/4-2" 70
— X 60
\ 50 w
— 600 ©
P N\ o 8 9 10 11 12 13
& 400 N\ 30 ¥ x
) \ =)
@ \ 20 8 7
W 200 W
¥ N\ 10 § 6
\ A
0 100 200 300 400 500 °F 5
"0 50 100 150 200 250 °C 4 N
TEMPERATURE a) -
3
5 |
ITEM | DESIGNATION | QTY MATERIAL[ L\\ ] | 9
1 BODY 1 crg/creM 1 (/)14
2 caP 1 cre/creM| e
3 BALL 1 CF8/CF8M i
4 BALL SEAT 2 RPTFE |
5 | JOINT GASKET | 1 PTFE |
6 THRUST WASHER 1 PTFE | SIZE D L w S
7 STEM 1 | 304/316 | 3/8" 9.2 385 76 21
8 | STEMPACKING | 1 PTFE | 1/2" 10 485 | 91 25
9 GLAND NUT 1 304 3/4" 15 58.5 91 30
10 |SPRING WASHER| 1 304 | 1 20 69 g1 38
i STEM NUT 1 304 11/4" | 25 79 111 47
12 HANDLE 1 304 | 1120 | B 90 154 53
13 | HANDLE SLEEVE | 1 PVC | 2 38 100 | 154 66

Bonomi

GROUP




Ball Valve

2PC LIGHT-DUTY BALL VALVE
(QF203)

FEATURES

@ 1000PSI/PN63

@ Full Port

@ Blow-out-proof stem design

@ PED97/23/PE (CE0035) Approved

@ Casting Approved AD2000-W0O

@ Thread: ASME B1.20.1 BS21.DIN2999/259,
1SO228-1, JIS B 0203, 1ISO7/1

@ Inspection Testing: API1598, EN12266

RATING 1/4-4
1/4-2"
1000 \ 70 w
3 —60
00 1212:4 \
\ 50 1
600 —
g A ©3
W 400 \) —30 W
5 N 2
2 2 3
w 200
& ﬂ|10 g
0 100 200 300 400 500 °F
0 50 100 150 200 250 °C

TEMPERATURE

ITEM DESIGNATION QrY MATERIAL

il HANDLE SLEEVE a1 PVvC

2 HANDLE 1 304 S
3 GLAND NUT i 304 18
4 STEM NUT 1 304 3/8" | 125 42 46 76 21
S SPRING WASHER i 304 1/2" 15 48 50 85 25
6 STEM PACKING dl PTFE 3/4" 20 58 57 95 31
7 THRUST WASHER 1 PTFE il 25 68.5 68 120 | 375
8 JOINT GASKET 1 PTFE 1-1/4" 32 80 74 120 | 465
9 CAP 1 CF8/CF8M 1s1y2#| 38 90.5 85 150 53
10 BODY 1 CF8/CF8M 2" 50 109 94 150 66
¥ BALL SEAT 2 RPTFE 21/2"| 65 139 | 120 | 215 | 825
12 BALL i CF8/CF8M 3" 80 157 | 130 | 215 | 975
13 STEM i 304/316 4" 100 | 200 | 160 & 300 | 127

BONOMI

I Umw 01384 411 888 sales@ultravalve.co.uk www.ultravalve.co.uk

GROUP




I Umw 01384 411 888 sales@ultravalve.co.uk www.ultravalve.co.uk

Ball Valve

2P C ECONOMICAL TYPE BALL VALVE
(QF204)

FEATURES

4 1000PSI/PN63

®Full Port

4 Blow-out-proof stem design

4 PED97/23/PE (CEQ035) Approved

# Casting Approved AD2000-W0

#® Thread: ASME B1.20.1 BS21.DIN2999/259,
1SO228-1, IS B 0203, 1SO7/1

#Inspection Testing: AP1598, EN12266

RATING 1/4-4
1/4-2"
1000 \ 70
800 12124 \ — 60
\\\ 50
& 600 \ a0
& \ — 30 3
Y 400 \ 4
é —20% 2 B
EZOO _mléc-' N\,
0 100 200 300 400 500 °F
I0I SlIJ ‘IOID 15:0 2DID 25l0 °C
TEMPERATURE
ITEM DESIGNATION QTY MATERIAL
1 HANDLE SLEEVE 1 PVC
2 HANDLE il 304 SIZE| D L H w S
3 GLAND NUT 1 304 1/4" | 11.6 | 485 | 48 91 19
4 STEM NUT 1 304 3/8" | 125 | 485 | 48 91 21
5 SPRING WASHER 1 304 i . 58 52 103 | 255
6 STEM PACKING 1 PTFE 3/4" | 20 65 61 | 111 | 31
7 THRUST WASHER 1 PTFE ) i 25 77 65 126 | 375
8 JOINT GASKET 1 PTFE 1-1/4" 32 90 79 | 154 | 465
9 CAP 1 CF8/CF8M 1-1/2| 38 98 83 | 154 | 535
10 BODY it CF8/CF8M 28 50 121 | 97 | 192 | 66
il BALL SEAT 2 RPTFE 2-1/2" 64 | 145 | 129 | 246 | 825
12 BALL 1 CF8/CF8M 3" 76 166 | 138 246 | 975
13 STEM 1 304/316 4" 94 | 240 | 175 | 317 | 130

Bonomi

GROUP




I Umw 01384 411 888 sales@ultravalve.co.uk www.ultravalve.co.uk

Ball Valve

2P HEAVY TYPE BALL VALVE
(QF205)

FEATURES

4 1000PSI/PN63

@ Full Port

@ Blow-out-proof stem design

@ Body and end caps quality investment casting

@ PED97/23/PE (CE0035) Approved

# Casting Approved AD2000-W0

@ Thread: ASME B1.20.1 BS21.DIN2999/259,
1SO228-1, JIS B 0203, 1SO7/1

@ Inspection Testing: AP1598, EN12266

RATING 1/4-4 L
1000 P \ 70 T 2 1
soo 2124\ —60 e i
N 50
_ 600 \\ a0
& & e
W 400 A\ —{30 w q¥z | :
= \ 2 10 Gy
2 o0 9% & 10 SO 22
x —{10 & 11
Q x
0 100 200 300 400 500 °F =
"0 50 100 150 200 250 °C 12 | SNy e
TEMPERATURE ] \/”e’\_’\>\7\”4///////’////’/
13 .4
L
ITEM DESIGNATION QTY MATERIAL
il HANDLE SLEEVE 1 PVC
2 HANDLE 1 304 SIZE D L H W K i}
3 GLAND NUT 1 304 1/4" 116 50 48 g1 285 125
4 STEM NUT i 304 3/8" 125 50 48 91 285 12:5
5 STEM 1 304/316 172" 15 58 52 103 28.5 13
6 SPRING WASHER 1 304 3/4" 20 65 61 14! 34.8 21
7 STEM PACKING 1 PTFE = 25 80 65 126 348 225
8 THRUST WASHER 1 PTFE 1-1/4" 32 92 79 154 381 235
9 JOINT GASKET 1 PTFE 1-1/2" 38 105 83 154 381 235
10 CAP 1 CF8/CF8M 2" 50 125 97 191 381 235
by | BODY 1 CF8/CF8M 2-1/2" 64 155.6 129 244 56 32
12 BALL SEAT 2 RPTFE ok 76 183 138 244 56 35
13 BALL 1 CF8/CF8M 47 94 240 175 315 63 50

Bonomi

GROUP




